





3. sin 0° x tan 0° — cos 0° 9] ZF= A , sin 90° X cos 90° + tan 0° 9] S
Bat& o, B-A 9 #e?

© -2 @ -1 ® 0 @1 ® 2



4.  /(sinx+1)2+ /(sinx-1)2 9] 27 (&, 0° < x<90°)

@1 @ 2 ® 3 @ 4 ®5



Ch FolT BE W x4y o] S Fou?

2Zte sin cos tan
14° 0.2419 0.9703 0,2493
15° 0.2588 0.9859 0,2679
16° 0.2766 0,9613 0,2867
sinx = 0.2766 , tany = 0.2493
® 28° @ 29° ® 30° @ 31° ® 32°
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7. O E7A &2 Ae BF IE 27

@ sin%30° + cos?60° =1
O sin30° =cos30°x tan30°
© sin30° +sin60° = sin90°

o 1
@ tan30° = m

ORON®) © 0,0 ONGNC)
@ 9,6, ® 06,6



8.

1
/x = 60° ¥ o, <§ —sinx) (1+ tanx) ] 342?

O -2 @ -1 ® 0 @ 1



\/(COSA —sinA)? + \/(sinA +cosA)? = V2 & o, tanA & gr2?
(T, 0° < A <45°)

@2v2 @ V2 ® V3 @ 1 ® 0



10. o2 1739 AABC = AB = lem, ZABC = 90°, D
(CAB = 60° 91 2 Z}ztola, AC = CD o]t}

ofmf, tan75° 2] §h2?

D 2+ V3 @ 1+ V3 ® V3
@ 24 V2 ® 1+ 2



@ sind5° ® cos0° © cos35°

@ sin75° ® tan5’0° ® tan65°

O ©-©-0@-©-0-@ ® @-0-E-0-@-®
® @-0-0-©-0-® @ @-0-0-0-©-0®
® ©-©-@-G-0-@



45° < x<90° ¥ o, V1 -2sinxcosx+ VI + 2sinxcos x & ZHH3]
SHH?

@ —sinx @ -2sinx @ sinx

@ 2sinx ® 3sinx



13. o3 2ol /B = 90°%] A7Ht7HE
ABCOA] 3cos A —sin A 9] 4127

@ 3_\/5 @ 4—\/§
2\/§ 2
® 2°

2




sin A +2cos A
sin A — cos A

14. tanA == <& of, o] Zre FabH?

1
2



15. oS I3y} o]y

o
O
R
=

Aol 1 ) Y
9] oF o] vekat o] R= Ze] 2717} ‘
60° <1 A4 o] Al 29 1
60° v
/ 0 ]
V3 V3

@ y= V3x+1 ©y=2x+1



16. o= 3 2 @ 715 vuadd A2?

H7]

@ cos 80° © cos 0° © tan 0°

® cos 27° @ sin 15°

0666060 2 6,6.6,0,
®9,06,6,0,.6 @® ©,8,0,6,0
® ©0,6,6,0,6



17.

A A 2

(V3+1)x+ V3=02 F & tana, tanb 2L Z

b 9] A71E? (&, tana < tanb , a,b = |2}

O o°

@ 30° ® 45° @ 60° ® 80°

Ol



18. o3 1989 A7 ABC 9|4 /BAD = x, /DAC =y 2t & o,
12(tan x + tany) ] g7



19.

o2 I3 Zo] g mAE|e] Hojrt 4 <l
AFAA A - BCD o4 BC 9] 34 E &
S}2};. LAED = x & W], cosx 9] ZE2?

1 1 2
@% @31 ® :
D 2 ® %




20. TF 1Y ol WAS Y Aolrh1 A ARAA The BE ol g3t
o] BD 9| ol T5He?

A
)
1.0724 C
1 A
$ b -
0] B D T
(atZth|o] H#)

T sin cos T tan
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724

@ 0.2807 @ 0.3179 ® 0.6821

@ 0.7314 ® 0.9657



